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fig	1
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relation
vectorielle

La
fig
1
représente
des
notes
liées
entre
elles
par
une
relation
vectorielle.
La
relation
Eb/A
lisible
A\Eb,
Eb\A
ou
encore
A/Eb
( la
5te
dim/4te
augm
divisant
les
12
demi-tons
de
la
gamme
en
2
parties
égales.
Les
ee
répondent
a
A
8va.B
Db
qq
à
cause
de
la
2de
maj.
Db/Gb
q
q. 

5
demi-tons
expliquent
le
rythme.
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fig	2
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analyse
de
la
fig
2


La
 fig
 2
 déroule
 ses
 notes
 comme
 suit:
 D/F/Bb\G/Bb/C
 dont
 les
intervalles
[ 3m/
4J/2m\2m/2m/2m/décrivent
le
vecteur
V
( +3,+5,-3,+2,+1,
+2).
 I l
 est
 possible
 pae
 effacement,
 cad
 en
 omettant
 une
 étape
 de
trouver
 des
 vecteurs
 absents
 dans
 l 'énoncé
 
 ( -4)
 ( +4)
 ( -5)
 . . . 
 Pour
 le
comprendre,
 prenons
 la
 suite
 D/F/Bb\G/Bb/C,
 en
 omettant
 F
 et
 les
derniers
 intervalles
 on
 obtient
 :
 Db
 =
 ( -4).
 De
 la
 même
 manière,
 en
partant
 de
 Fet
 en
 omettant
 
 Bb\G/Bb
 on
 obtient
 F\C
 =
 ( -5).
 Avec
d'autres
effacements
ET
en
procédant
à
 l 'écrevisseon
obtien
Bb/D
on
obtient

=
( +4).
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conclusion

Le
vecteur
 initial
V
 ( +3,+5,-3,+2,+1,+2)
   est
devenu
 
 ( +3,
 +5,
 -3,
+2,
+1,
+2,
 
-4,
+4,
-5).
Si
 l 'on
 remet
 les
éléments
dans
 l 'ordre
on
 obtient
 le
 vecteur
 ( +1,
 +2,
 +3,
 -3,
 +4,
 -4,
 +5,
 -5).
 Somme
toute
 hormis
 1
 &2
 qui
 sont
 uniquement
 positifs,
 3,4,&5
 sont
relatifs
( cad
de
signe
+,-).
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